Sokolov (okres Sokolov) [752223]
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chodnik - z&m. dl.

chodnik - z&m. dl.

chodnik - z&m. dl.

chodnik - zam. dl.

15255
frav. plocha

| 400

| chodnik - z4m. d.
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| 76.00
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asf. komunikace

7.00
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| 39.00

KATASTRY

PARCELNi CISLA

DRUH POVRCHU

VZDAL. VRCHOLOVYCH BODU

%
m NI
22 |8 ]IS
Z0 o N RS LS
[ Slo|P|IS
<0 S|l -
ww olO|o|~ .
>0 ol .. “
N R > N
SIS|gla -
sS|IGl<| X -
T 0
oo | NI o a)
2|9 pu | v
Q|lw|pO|=)O
: :
2| |5 o)
& < >
N |&|@ a ™
S| > <
so| |2 < -
o8 z 2
™ .
¥ |E|x ,M M nVu
n | Z|W W < @)
= 0 = ,nA\nU T ) :
OO x| 35 P4 Ll @) m
2552 Y = > | o
O [e] O T S - \©
X0 |x|g > < oL
O&|a|= O X | c
<s |2l k=) O |3
Zo|9|= ¥ : |9
X o [N =) Q|5
<L n > | %
Qo . Z |2
O3 |2 - i e
S< | =) SIS
©|= ~ QO|o
319 > o|»%
= | O (@) a ..
£l o) < o)
a W . ™ I o
o Ll 9
RN
£ s © o z
. Y078 AAONOL3E 6} €evsy 181 €Yy 0099 00°/€
= RO AIEAT %1 v 9L ECTSy z_@mwﬁ - 050¢
= AR 6L ST¥S S8 eSWSr  8L9Sk—I— 070¢
¥
: 61 0TYSr L 0S¥Sr  29sk—— 009
eylodid "uAid
e 61 6L¥Sr €L 6TWr  2h9S—— 07l s
61 6L¥Sr 8L 6T¥Sr LS 09} 2
61 6LYS 8L 6TKSr LSk 06E §
Ad L~ ~
= e = ) 6ivSy 791 60V LOG—T— 00¢l aad
%lﬂ
OSCG F7 Ue eY o B // 861 S0USr 8% 8LWSr  909Gk—— 050
07 66€Sr  ©6L  60%Sr  209G—— 058
m_ oL L9ES P8 LESE  SSSS—O S
ki
. f // 680 IGESr 641 29ESr  MWSSI~l— 0626
€9p 3d exXlodyd UATIN / __, 891 09€Sh 8LL 095y 8ESSk—— Ovl6
'L PSSP GLL YSESP  6TSSI—— 0096
A
POrOURa YR | // WLooovesh  pUL 0SSP WTS—— (08%
- ITET gL SEESr WL SvESy  9LSS—1— 00'%6
m o
- :
¥ 2 87 697y 807  667%r  L0SS—— 018 —
_ g S 67 8750 607  L67%F  90SS~]— 0/78
000} 'S POROTO8] JOpFRIOY S s Ay BT 1 N N A
000} 'S pORO[da] J0pya[oy * ) = e 8y T €6 G0'SS 0808
e s 1 I wr o Wy T w6y 0SS 0808
€3 3d BAOCHTUACLN S 5 vy ww ne we e o
R TR ¥ 3 €77 09%r €T 0678 S0SS—— 0€6L
i _ = 77 ST PT80S~ 028
- TEPTTITRR —= STT LT ST 8T 0SS—— 08U
) 07  6veSy 061 65T 6y - 09
9P 3d eyodid URdTIN | [ 00T  Lyesy 061 19T VSN - 0679
I , : S 661 LreSr 68 ST OFPS—I— 0979
2 %1 yresr 98 ¥STSr  OFYS 0019
= W T | i fw_ J A/ A O 34 e_gVR 0809
OTCG T Ue eYod I B %1 TS 98 ISTSr  LSYS—— 066G
e
3 = LTy WL sy 9ThS 00'SS o
S Y018 AAONOL3d Ll_y o S IS S8 TGy ow.ﬁy R S
= i S %1 08P 9% OVISr  GTWSI~T— 08 =
0119 3d POROUAGTIN = S 81 6Cy 8L 8ely  GCwN | (0% S
T007 S PR Va0 & % We 97 06 % 9THS 0228 —
_ i S AR T A YRR /- A AL
- 000} " POROIGS} JOPIBIOY B o \ €07 €T €61 EETSH  W\(L 04N
2 SO OO = < Q07 TP 6L €8Wr  9TKSI—F— 001G
3 =
p
(&b]
o W7o T WL T YSt—— 009y
T e o
222
- ERTTGE) ok Pl 9GS veL Q0TS 0B€S—— 00'6¢
X —[>< =
EEE
o|o
g5
35
NS Q
NHH
D= =
w5
P IEN
= oz
= ==
> S&3
’ 243 WL LOIS WL 8IS LSS~ — 0re
i RWB'\ —
% " %W>Wu>_%u_0c>0w_,umﬁ ! I Wmm 81 oLGy €8l 9%ISh 69— 066
= =P
& E=2
a mw.m
ZIES
Sig
087
= T 61 SIS eL L9185 0SeS—— 0812
¥
Ty e ’ : 061 1S 08 ISy LTES—— 05T
m_ 061 €SISr 081 EFISr  €TES—— 0801
L Ty
NG T TET B Boupa / S ’ Wl 6LISr L eSSt WSS—— 088
= /% I L e WL e 00— 01 ||
(NEER) W W W wie we—— 09 3|
— 690 0TISP 65 OSISP  68TS—— 00G |t
3 3
¥ 2
ST iy SR ST 6L oy 65 e we—— e |88
153 F _ : : . . =S
2 690 SLISP 69 €TISr 78S R
o Y078 AMAONOLIS _ _ _ _ _ o | BT
= @ 069 3 GONOTOR 1S YN INTOdvN A A AL S =
=
2
S — = E
z 2 _ B s Z
3 = = 5 = o = —a £
T = o S = o o s S
[&] S (@) = = 2 £ .= x
= g £ 2 2 ¢ B s EEd
= o = S B o o 2 =wa
= = < s 2 = S = ==
= = s = s < = = 2 =5
= 5 (] = B = = 9 = E S
S = = e = e e & =Y




	Listy a pohledy
	D11223


